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Present Perfect Simple Exercises

Affirmative

Instructions:

Place the verb in brackets into the present perfect tense.

1. | should (cycle) to work as the traffic was
very bad.

2. She (take) all of her exams now.

3. John (leave) his wallet in the pub.

4. Most people (choose) the roast duck in

orange sauce from the menu.

5. We (lose) our way.

6. The voters (elected) Mrs Knowles as mayor.
7.1 (finish) all of the apple juice.

8. He (triple) his income over the last 5 years.
9. They (forgot) to bring the dog with them.
10. Neither Jacob nor Simon (remember) to do

the homework.
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Answer Key

1. have cycled

2. has taken

3. has left

4. have chosen

5. have lost

6. have elected

7. have finished

8. has tripled

9. have forgotten

10. has remembered*

* With ‘neither / nor’ the verb agrees with the subject after the last noun.
Simon is singular, so it takes a singular verb - ‘has’.
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